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Ex.) Andrea walks 275 m east and then turns aroun_e %rlg %valks 425 m west.
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a) What is her distance travelled?
d = 235+ 425 =[700~)

b) What is her displacement?
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d = ¥233+-425= —|S0m
=|150m [w1)
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Ex.) Ms. Austin takes her dog, Bo, out for a walk around the block. w EA
+110m )
~f—145m "HS
a) What is their distance travelled? 10

d=10Om+ 4Dm+ N0Om+ 145m(( _
(Nox2) + Ul4x2) -
b) What is their displacement?

q = s - ke st

Ex.) Atruck travels west for 3.0 h. Its displacement is then 2.60 x 10? km west
from its starting point. 260
a) What is the average velocity of the truck? N
— 3 £=3.0n V= 2.60x10/km
\) = C\ <. 2
g d = 2.60x0" km 3.0
V= bbb ..
(V= % e )
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Ex.) It takes 1.00 min for a sound wave to trave
velocity of sound, in m/s?

v:-c\—. £=1.00min =002
Tt d=20kn0a
=90 00D m [wJ
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